KEY QTY. PART NO.

1 1 2570—233
2 1 2975270
3 4 2520—459
4 4 2526—451
5 4 2502—331

FOUNDED 1930

Colchester, IL 62326-0358
Toll free: 800/447-5777
309/776-3222 (Fax)
Website: www.yetterco.com
E-mail:  info@yetterco.com

- 1281

DESCRIPTION

CHAIN, #41, 23 PITCHES & CONNECTOR
SETBACK W.A., 7000 & KINZE

5/8-11 LOCK HEX NUT ZYD

5/8 STD. FLAT WASHER ZYD

5/8-11 X 1 3/4" HHCS GR 5 ZYD

YETTER MANUFACTURING CO.




o
NN

A\
= 2

KEY QTY. PART NO.

1 2570-233
2 1 2975-271
3 B 2520—-459
4 4 2526—451
5 4 2502-331

FOUNDED 1930

Colchester, IL 62326-0358
Toll free: 800/447-5777
309/776-3222 (Fax)
Website: www.yetterco.com
E-mail:  info@yetterco.com

YETTER MANUFACTURING CO.

2565-368 — 12/02 — GREAT RIVER PRINTING, HAMILTON, IL. 16

DESCRIPTION

CHAIN, #41, 23 PITCHES & CONNECTOR
SETBACK W.A., 7200

5/8-11 LOCK HEX NUT ZYD

5/8 STD. FLAT WASHER ZYD

5/8-11 X 1 3/4” HHCS GR 5 ZYD




